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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

Write 1476 to the nearest 10

The 7 is in the tens place. The 6 after it causes it to round
up to an 8 then everything after the tens is set to O

(Total for Question 1 is 1 mark)

Write a fraction in the box to make the calculation correct.

3 7 |Typing 1 - 3/10 into the calculator gives the fraction 7/10|

(Total for Question 2 is 1 mark)

Here is a list of numbers.

Write down the mode of the numbers.

3 appears 4 times. 4 appears 2 times. 5, 7 and 8 each

appear 1 time. 3 appears the most so it is the mode

(Total for Question 3 is 1 mark)

Write down a 3 digit number that is a multiple of 5

100 has 3 digits and ends in a O so is a multiple of 5. Numbers
ending in a 5 or O are multiples of 5 as they are in the 5 times table

(Total for Question 4 is 1 mark)

Write 0.4 as a percentage.

|O,4 x 100 = 40| Multiplying any decimal by 100 converts it into a percentage

(Total for Question 5 is 1 mark)
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Here is a centimetre grid.

=<V

e —]

(a) Write down the coordinates of point A4.

(x-coordinate , y-coordinate) ( 3

(b) On the grid, mark with a cross (x) the point with coordinates (—4, 3)
Label this point B.
(x-coordinate , y-coordinate) §))

(c) On the grid, draw the circle with

centre (1, —1)
and radius 4 cm.

2
|Put the needle of the compass in at (1, -1), set the radius to 4cm and draw a circ|e| 2)
(Total for Question 8 is 4 marks)
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(a) How many houses were sold by the estate agent in February?
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(b) For this estate agent, write down the ratio of the number of houses sold in January to
the number of houses sold in June.
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10 Sonia wants to book a holiday.
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. Work out the size of the angle marked x.
Give a reason for each stage of your working.

180-25-116
Angle ACB = 39° as angles in a triangle add up to 180°
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When the input is 8, the output is 154

(b) Complete the number machine.

(2)

Starting from the output and going backward. The opposite operations need
to be done in the opposite order. Dividing is the opposite of multiplying
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17 of the single beds were sold without a mattress.
67 of the 83 king size beds were sold with a mattress.
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Once the initial information is filled in, the missing number in each row or column can be
found by considering that the row or column has to add up to the total at the end of it
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14 The box below contains three mathematical symbols.
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15 The table shows information about the number of social media accounts used by each of
300 students.

Number of social media accounts | Frequency

0 3 = 0
57 = 57
84 163
75 =225
81 = 32%

1

AVARVARVERVELV
AV AN EAYEAYEAY

1
2
3
4

]

(a) Work out the total number of social media accounts used by these students.

Multiplying the number by the frequency works out the total number

for each category. Adding all of these totals gives the total number

|0+ 57 + 168 + 225 + 324 = 774

(b) Find the median number of social media accounts used by these students.

300+

[S0.5-3
147.5-57
20.5-84%
6.5

Counting the frequencies in order until no
more can be counted. This finds that the 150th
and 151st are both 3 social media accounts

(Total for Question 15 is 4 marks)

Using the formula (n + 1)/2, where n is the total number of students, works out
that the median value is the 150.5th value, or halfway between the 150th and 151st

16 On a scale drawing, a building has length 12.4 cm and width 9.4 cm.
The real length of the building is 62 metres.

Work out, in metres, the real width of the building.

62m is represented by 12.4cm. Dividing the 62m by the
12.4cm works out that each centimetre represents 5 metres

62+12.%

Multiplying what each centimetre represents by the number of
centimetres representing the width works out the actual width

SX9.4

(Total for Question 16 is 3 marks)
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17 On the grid below, draw the graph of y =4 — x for values of x from —2 to 4

-2,y = 6. So the coordinate (-2 , 6) can be plotted

4,y = 0. So the coordinate (4, 0) can be plotted

=V

(Total for Question 17 is 3 marks)

It is a straight line so plotting the first and last point
and connecting them together completes the graph
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Work out the mean length of time for each missed appointment.
Give your answer in minutes.
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There are 60 minutes in an hour so multiplying the
number of hours by 60 converts it into minutes
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Mean = total + number, where total is the total amount
of time and number is the number of appointments

%%

IS16 1S

CO00s
25
<
byt
b0

b9t
S
K

hos
ﬁg
KK

botesetatetet
LRI
-

SIS
%

S

55

Slolete

<
(00 00,000
SRS
KKK

oo
%%

000
505
Joses
R
Ghosels
eleteds

%
X

<G
0%
XL

OGRS
pSelstatels

XA
S
e
SN %!
bote v
000 Tty
SRTIS,
o X
‘%f v
D%tk
8
ol
%

J
SRS
RS
g5 s
-
"
¥ 45
05 5
% S
deses fateses
SRSLEL SRR
minutes | S35 S
s
CRELLL IRXHEK.
CRRIRKE IXLRRL
: : it
(Total for Question 18 is 3 marks) S e
IR IXKLRK,
Fearsosetss s So et ete’s
1% %% QA
B SR
Jatssesetot o esvtetotet
LRI KRS
SRR RIS
SRS LIRS
SERLHLE SRS
SR SRLKELL
R RS
SRR K
P tssesoso B 42 te%ets!
KL% SRR
ot to%s
:
%
o
i
Kig
5
bose’s
Pove:
%
x5
<
&3
0
&
s
S
SRFLLS
Ko
g‘A aels
SR
1
bote~
x5
S
KNGS
bote,
&
%
PReseTas
S
pose
%
58
%
&
%5
x5
x5
poss
%
pies
x5
$80%e%
x5
poe?
K

oY
isintes

12

.CG Maths.



QLK 5888
S 888
KK 0% % .
- 119 Nimra buys a 3kg box of sweets for £17.60
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e s She puts the sweets into bags to sell.
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o o N T Each bag contains 150 g of sweets.
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Assuming she sells all the bags,
what is the lowest price Nimra should charge for each bag?
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There are 1000g in 1kg so multiplying the mass of
the box of sweets by 1000 converts it into grams
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Dividing the mass of the box of sweets in grams by the mass
in each bag in grams works out that there will be 20 bags
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100 + 35 expresses the percentage the price needs to increase to.
Putting this over 100 converts the percentage to a fraction, which

<
%

(%
)
0%l

2
&
K
¥
5

<
o5%
1K
I\
fotel

R
oo

SRS .. .
:%2{}33 100 when multiplied by increases the £0.88 by 35%, and therefore works

<

Jote!
o
)
e
%

O
2900,
£)
33,
X

out the price they need to be sold for to make profit of exactly 35%

2%
0!

%
X
b
<
v
3

.
e
<5

>

< 0:' %%
e et

=

X XA H R
R
NOY]
<NAL
>
S,

o0

355
e
%

<
a
4

55

o
ot
2%
S

LS

'5%v€’
(o]
boSetel

LK

Sotesetate%s

5005
2

foset

S
2558
S0
RS
sfodetotets

%
<

REEK
Q8K
il
2505
totods

<
555
(>
0
<

O
q&&ﬁg&&ﬁg&y
IRRRRKL

TS
LIRS

%
X

X
%

<
5
0S5,
S5
%
XX

<
5
<

2%
bo2eS

SRS

0 1%

S

g
e e
Bateteralets . .
y
S MBS The price of £1.188 is rounded up to the nearest penny as
e5ees paovie
S SRS
R s st it is a minimum pri nd the profit can be more than 35%
ol it is a minimum price a e profit can be more tha ()

SR oS
0».:‘0',0 o < 0e%
SRS Soaor
930 5.5 ooy £ 0%
< X ot oelel
e e
SRR Sl
L SRS
KR < >l <
e oot
eSS Do o
0305 s S~ Jo%
Sodass e £
Samas s | LR
S SSE
Rt RS 1ot
oot erco st~ Jo
S > B0 o%%
Ko s . .
LS Sl (Total for Question 19 is S marks)
SRR 8 )
t9g lekote! RS
B SN
0‘0’30‘:’ 0‘0"09‘3’
L RS
SCHLR: SR,
UGS B
SR B
SRR REES
S B
Sesetetet fisasetole!
CRRERKE SRR
SR LSS
KEBLs LR
SRS S
SR S
R KL
ERRRRE IR,

13

oCG MathS. Turn over »



20 Lorena gets a train at the same time each morning to go to work.
She gets a train at the same time each evening to come home.

The probability tree diagram shows the probabilities of each train arriving late.

(a) Complete the probability tree diagram.

Train to work Train home

0.06 late

late

0.94% not late

[1-006 =094

late

[1-013=087|

not late

The train is certain to be either late or
not late. Therefore the probabilities must
add up to 1 on each set of branches

not late

(2)
For a day that Lorena goes to work,

(b) work out the probability that the train to work and the train home will both arrive late.

Late AND late. AND means to multiply the probabilities

0.13X0.06

(Total for Question 20 is 4 marks)
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Describe fully the single transformation that maps shape S onto shape T.

Translation by (3)

It must be a translation as it has been moved without changing size or the way up it is.
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Counting the jumps from one of the corners on S to the same corner on T. It is 5 jumps T D

to the left, which is -5 in the x-direction. It is 6 jumps up, which is 6 in the y-direction .: 0::::

SR SR8

(Total for Question 22 is 2 marks) B L
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23 The length of a football pitch is 90 metres, correct to the nearest metre. DOEES LS
e

. . UL S

Complete the error interval for the length of the football pitch. S B8

Adding and subtracting half of the resolution works out the upper and lower bound.
The resolution is what the measurement can go up in or is to the nearest, which is 1m
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(Total for Question 23 is 2 marks)

0
S8
w V|
o)
S5

o
=
:ﬁ

=
K

OO0
dtele!

e’
Soh" e
SO

(00
S
G558
Q&gp
KKK

93 Segesese:
Roototote SR o totetete’s

16

.CG Maths.



92 9%%% 00 %%%
Ko R
SRS R : : . .
- | 24 Festival A will be in a rectangular field with an area of 80000 m*
095%0% %% KR PCH . .
B S The greatest number of people allowed to attend Festival A is 425
Sesr B8
8 e . . .
SO cle Festival B will be in a rectangular field 700m by 2000 m.
S o . .
S % The greatest number of people allowed to attend Festival B is 6750
aa S . .
333‘.?:9:33 The area per person allowed for Festival B is greater than the area per person allowed
S for Festival A.
s
Zs%%:ii% (a) How much greater?
oy .
2 Give your answer correct to the nearest whole number.
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. _ 3200 This is the area per person for Festival A. Area per
80000 +425= |17 person means to divide the area by the number of people
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This is the area per person for Festival B. Area per
person means to divide the area by the number of people
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Subtracting the area per person of Festival A from the
Sggo - BZI;DO < area per person for Festival B works out how much greater
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19.17...is rounded to the nearest whole metre

Callum says,

“300cm? is the same as 3 m? because there are 100cm in 1 m so you divide by 100”
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Callum’s method is wrong.
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(b) Explain why.
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K KB (Total for Question 24 is 5 marks)
SRESE R
SR SR
S0 0.0 ¢ XA

17

oCG MathS. Turn over »



25 The points L, M and N are such that LMN is a straight line.
The coordinates of L are (=3, 1)
The coordinates of M are (4, 9)
Given that LM : MN=2: 3,

find the coordinates of N.

This works out that the distance between L and M in the x-direction is 7

2 parts of the ratio represent the distance between L and M. Dividing the
7 by 2 works out that 1 part of the ratio is worth 3.5 in the x-direction

Multiplying the value of 1 part by 3 works out that the 3 parts which
represent the distance between M and N in the x-direction is 10.5

2.5X%3

Adding the distance between M and N in the x-direction
to the x-coordinate of M works out the x-coordinate of N

4+10.5=1¢S

9—|
8+2
4x3
9+12=2l &S 21

Doing the same method but for the y-direction

(Total for Question 25 is 4 marks)

26 A new phone cost £679
The value of the phone decreases at a rate of 4% per year.

Work out the value of the phone at the end of 3 years.

100% is the full amount. Subtracting 4% works out the percentage it
decreases to. Putting this over 100 converts it into a fraction, which
reduces the £679 by 4% when it is multiplied by. Raising the fraction
to the power of 3 as it needs to be decreases by 4% 3 times

679 x(%f

The answer of 600.735... is rounded to the nearest penny

(Total for Question 26 is 3 marks)
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- 127 In Spain, Sam pays 27 euros for 18 litres of petrol.
095%0% %% o2 %% %%
e In Wales, Leo pays £40.80 for 8 gallons of the same type of petrol.
SRIRE SIS
O ol 1 euro = £0.85
% DK .
S 4.5 litres = 1 gallon
SO
(L s
sl S . . . . .
2 S Sam thinks that petrol is cheaper in Spain than in Wales.
M e Is Sam correct?
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You must show how you get your answer.
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27X0.85=22 .95 Each euro is £0.85 so multiplying the 27 euros by 0.85 converts it to £22.95
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0 8+4.5=Y4% . o .
S S : how many lots of 4.5 litres it is and therefore how many gallons it is
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SRS S of 4 gallons by 2 works out the price of 8 gallons
RN KL
KRR KK
e N et
GRS
(RSO LXK
O i 00.0,00
508 o DSOS %!
oS v
N SRLES . . . .
O The petrol in Spain is not cheaper than in Wales as it costs
500 % eSS, N O <
oS0 a %% X X < <« . .
(X [0 < %
S I £45.90 for 8 gallons and Wales is less than this for 8 gallons
sV (0
KTTES Lot
A
5o it
< LT
e D 0%
ORI S
e SR~
pSeeLae ORI
SIS U
I e
25 <o
X o PO ravetel
54 (R
0 pres = a%es
X [0 e
o s 2% < S "
K KR
il S
S SRS
T R .
MR NS
SIS ot
< g < O X
o - S e~ 4
7GR %
o K XK
e s
S SO
= Joter--atets
0 s & 5
RKRAE
IR SR,
SRK% KRS
LR
RGO Poeteteted
LR SR
SRS e
XK LXK
s e
SR R
IR (950, 0:0.9,
SRS S
LI
oSS o5 % %%
SR S
SR KRR
S Setr oS D oSt ete!
S phedede!
SRS S
s oS T et tede!
orers R et
8 LS
e isoeer A oo s00
R LI
(XA LAY
SRR I
REBSLe RES
SSELHE KL
2 o SR
W S o
Vo e 5
Lo R
SO S
SSRGS Yo%
N ot titets
Y
NS LS
ke e
S S
DG S
S PoGe e e%s
oS 20, a0
i - et uzedet
s I 5
oo o
e oeles
o

RS
Ty ol o4

b v
oo

S
SRS,
055 o Sl
poY ~avele!
GBI
SRS,
e raatels
RIS

6
5%,

3
00
%

o%
b0l
@
4
o

Pl
Pomatet
ST
ST P
e e
SOy
I R
KIS SR
S S
efeletelele odedeteleds
pesaletels Jogetess
SIS K
e oo
S S
DTSR SR (Total for Question 27 is 4 marks)
SESES SR
S B
olotelets: Rototete!

19

oCG MathS. Turn over »



28 Solve the simultaneous equations

|0 +4y=5Y%

Y>x=26

xX=6.5

Sx6.5+42y=27

2y=27-5%6.5

_27-5X6.5
=T 2

Sx+ 2y =27 First equation

6x +4y =128 Second equation

Multiplying the whole of the first equation by 2 so that the number of
y is the same as in the second equation. This forms the third equation

Subtracting the second equation from the third equation to
eliminate the y term and get an equation just in terms of x

Dividing both sides by 4 finds x

Substituting the value of x into the first equation

Subtracting 5 x 6.5 from both sides to get the y term on its own

Dividing both sides by 2 gets y on its own

(Total for Question 28 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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